Jdd20000000000
HRERERNRNANRERERE

00 oO* O oof

*0Qoooo foooo



Jo2000000

charF, # 2

C/F, :Y? = F(X),
F(X) =X+ faX*+ -+ fo,
fi € Fg,disc (F) # 0

[N 7N
N




][]

1986: U OO Miller, Koblitz
19087 OO o Cantor
1089: DO OO Koblitz

CantorU0O0O OO OOOO: Sakai-Sakurai-Ishizuka,
Paulus-Stein,
Nagao, ...

1999: Smart@Euro99
“On the Performance of Hyperelliptic
Cryptosystems”

HgN

oooo,
bbb obboodd
obgoboggn.

g, bbbttt oot.
3



HarleyO OO OO O

2000: Gaudry-Harley@ANTS-1V
“Counting Points on Hyperelliptic Curves
over Finite Fields”
http://cristal.inria.fr/“harley/hyper/

Cantor:

O00000000000000ooon0 20000
00O composition, reductiond0 0O O0O0OOOO

O Mumford representationd O I

Harley:
o000 2000
ODivisor OO OdOoOoOogono
000000 chord-tangent law O 0O [
cf. 0000, 0000 2@OoOoOoooon)
[0 Mumford representationd O O
O0000 CRTO NewtonO OO O[O
[0 KaratsubaO O O OO

HEN 21+ 27TM

200 : 2I+30M
[: 00000000000, M: 0DDDOO0O0O0O0O0OO00

4



U oonnn

1. HarleyO OO Oooogdon

2. (00O)Harley0 OO DOODODOO
00000000, 00000000000
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Di S jC(FQ)a
D3 =D1+ Dy

D1 = P11+ P12 — 2P
Do = Py + Pop — 2P
P~x: O4OOO

P11 P22

[N
N

P21

i




V € Fy[X] such that V(P11x) = P11y
V(P1ox) = Proy
V(P1x) = Po1y
V(Pox) = Pooy

Y=V(X)

P11 P22
P31
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P11+ Pio+ Po1+Poo+ P31+ P3op — 6P =0
D1+ D>+ P31+ P3o — 2P =0
D3 = —(P31 + P32 — 2Px)

D1+ Do =7D3

Y=V(X)

-P32

| A
PN

P32




Mumford representation

D= (U,V),
UV € Fy[X],degV < degU

D1 = P11+ P12 — 2P = (U1, V1)
Up = (X — P11x)(X — P1ox)
Vi(P11x) = P11y, Vi(P12x) = Proy
F — V£ =0 mod Uy

F — V3 =0mod U, Dy = (Uz, \2)

Y=V1(X)

Y
P11 P22

N N

P21

U1(X)=0



D = P11+ P1o+ Pp1 + Pop — 4P

= (U,V)
U = UiUs

F—V2=0modU = UiU>

(X)

P11

P22

~
\_

P21

U2(X)=0

U1(X)=0
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F — V£ =0 mod Uy
F—V2250mOdU2

F —V?=0modUiUs

Jooooooooovouoono.

V =8U; 4+ V1,5 € Fy[X]

S = (Vo — V1)U mod Us
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Reduction

D3 = —(P31 + P35> — 2P0)

= (Uz, V3)
D3 = P31 + P3p — 2P0
— (U3/, V3/)

D3 — (U37 V3) — (U3’7 _V3’)

Us = (F—-V?)/U
V3 = -V mod Usj

Y=V(X)

P11

P22

P21 P32

(e A
C
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D3 = 2D;

U=U?
F—VZ=0modU;

F—-V?2=0modU = U?

NewtonU OGO Qoo vooogno.

V =8U; 4+ V1,5 € Fy[X]

F— V7
U1

S =

Vi ! mod Uy
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res(U1,Up,) =0000

D1 = P11+ P1p — 2P
Do = P11 + Pop — 2P

D1+Dy = 2(P11—Pxo)+(P1o—Pxo)+(Pop—Pxo)

200

res(U1,V7) =0000

Dy = P11 + P1o» — 2P
2(P11 — Px) =0

2D1 = 2(P12 — Pxo)
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1. DD/QDD Ooggnn:
Uiy =Up, Vi =V

2. U1,U,000

3. 000dddoooon:
Resultant

5. b uotdugboognbt:

Soon

6. Reduction
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Stp. | Procedure Cost
1 Compute the resultant » of U; and Uo. 5M
w1 u11uU21; W2  uio + u3; — uzg — Wi;
r  uio(wz — u20) + u20(u?; + uzo — wi);
2 If »r =0 then
D1 and D> have a linear factor in common,
and call the exclusive procedure. —
3 Compute I; = 11X + 10 = U; ' mod U». I+2M
wy +— r 1 I+ (wi(u2r —u11)) X + wiwsz;
4 Compute S = 51X + so = (Vo — Vi)I1 mod Us.
(Karatsuba) 5M
W1 <= V20 — V10; W2 < V21 — V11; W3 < 110W1;
W4 < 111W2;
ws +— (110 +i11) (w1 + w2) — w3 — wa;
S <+ (ws — u21wa) X — uzowa + w3,
5 If s1 = 0 then D3 should be weight one,
and call the exclusive procedure. —
6 Compute the coefficient k> of X?2
in K= (F—V?2)/Us. —
ko < fa — ui1;
7 Compute Th 281X3-|—t12X2—|—t11X—|—t10 = SU;.
(Karatsuba) 3M
w1 ¢ S1u11, tio < Sou1o;
t11 < (so + s1)(u10 + u11) — w1 — t1o;
t12 < w1 + so;
8 Compute Uz = (S(Tl + 2V1) — K)/UQ.
(Karatsuba) M
uU32 < 8%;
w1 < s1(so + ti12) — 1;
wy — s1(t11 + 2v11) + sot12 — ko;
U31 < W1 — U21U32, U0 < W2 — U20U32 — U21U3L,
9 Make Uz monic I+2M
w1 — uggl; U30 = U30W1,; U3L < U3LWI,
uzp < 1;
10 Compute V3 = —(T1 + V1) mod Us. (Karatsuba) 3M

wi < t11 +vi1;, w2 < tio + vio;

W3 $— S1U31, W4 < t12 — W3, Ws < W4U30Q;
we + (u30 + u31)(s1 + ws) — w3z — ws;

V31 < We — W1, V30 < W5 — W2,

Total

21 +27M







] Resultant O O

5M = 4M
OUz000

8 | Compute Us = (S(T1 +2V1) — K)/U>. (Karatsuba)
uU3z2 < S%;
w1 + s1(so + t12) — 1;
wo  s1(t11 + 2v11) + soti2 — ko;
U31 < W1 — U21U32, U3Q < W2 — U20U32 — U21U31,

O | Make Uz monic

—1. : :
W1 < Uzp, U30 < U3OW1, U31 < U31W1,
uU32 < 1;

Us = X? + (w1 (259 — w1) — wo) X +

wi (w1 (83 +u11 +unt — f4) +2(v11 — sows))

+ upiwo + u1g — U2,

where wy = SIl and wo = uo1 — u11.

I+9M = IT+6M

18




Input Weight two coprime reduced divisors
D1 = (U1, V1) and Dy = (Up, Va)

Output | A weight two reduced divisor D3 = (Us, V3)

Step Procedure Cost

1 Compute the resultant » of U; and Uo. 4 M
W1 4— U221 — U11; W2 4+ U21W1 + U10 — U20;

r < u10(w2 — u20) + u20(u20 — vr11wW1);
2 If r =0 then D1 and D> have

a linear factor in common,
and call the exclusive procedure. —

3 Compute I; = U; ! mod Us. I+2M
w3 < 7“_1; I1 +— wiw3z X + wrws;
4 Compute S. (Karatsuba) 5M

W1 <= V20 — V10, W2 £ V21 — Vi1,

w3 < 110W1, W4 < 111W2,

ws — (i10 +i11) (w1 + w2) — w3z — wa;
S + (ws — up1wa) X — ugows + ws;

5 If s1 = 0 then D3 should be weight one,

and call the exclusive procedure. —
6 Compute

Us = s7°((SUL + V1)2 — F) /(U1U2). I+6M

w1 — Sfl; W2 < U221 — U1,
u30 < wi(wi(s3 + uir + u21 — fa)
+2(v11 — sow2))+
U21W2 + U190 — U20;
uzl  wi1(2sp — w1) —wo; uzz < 1;
7 Compute V3 = —(SU1 + V1) mod Us. 6M
w1 < U30 — W10, W2 < U1l — U31,
V30 — S1U30W2 + Spw1 — V10;
v31  s1(uzi1wo + wi1) — sowa — v11;

Total 21 +23M

19




200

Input

A weight two reduced divisor D; = (U1, V1)
without ramification points

Output

A weight two reduced divisor
Dy = (Uz, Vo) = 2Dy

Step

Procedure

Cost

Compute the resultant » of U1 and V4.
w1 <— Ufl; w2 < U11V11,
r < uiowi + vig(vio — w2);
If r =0 then
D1 is with a ramification point,
and call the exclusive procedure.
Compute I; = (2V1)~! mod U;.
w3z + (2r)~1;
I + —v11w3X + (vip — w2)ws;
Compute 71 = (F — V2)/Ur mod Uy,
wo < u11 — fa, w3 < 2uio;
tio + u11(2ws — ur1w> — f3)
— faws + fo — wa;
t11  u11(Qwo +u11) + f3 — ws
Compute S = I;T1 mod U;. (Karatsuba)
wi = 410t10; w2 = t11t11;,
w3z  (i10 +411)(t10 + t11) — w1 — wo;
S+ (w3 —u11w2) X — urowz + wi;
If s1 = 0 then D> should be weight one,
and call the exclusive procedure.
Compute Uz = s72((SU1 + V1)? — F) /U2,

w1 sfl;

u20 + wi(wi(s3 + 2ui1 — fa) + 2v11);
U1 < w1(230 — wl); U2 <— l;
Compute Vo = —(SU; + V1) mod Us.
w1 < U111 — U21,
v20  u20(s1w1 + s0) — souio — v10;
vo1 < s1(u21wi 4 uzp — u10) — Sowi — vi1;

4 M

I+2M

4 M

5M

I+4M

6 M

Total

21 +25M
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P 2P P+ P
P I+5M I+11M | 2T+ 17M
— P 0 3M 3M
P> I+ 3M I+ 10M | 21+ 17M
2P I+ 11M | 21 +25M | 41 4+ 34M
Pr+ P || 21 +17M | 41 4+ 34M | 21 4+ 25M
—P + P> SM | 21 +13M | 2T+ TM
Pr+Ps || 21 +17M | 41 4+ 34M | 41 4+ 34M
—P1 + P3 SM | 21 +13M | 21 + 13M
P34+ Py I+ 10M | 21 4+ 23M | 21 4+ 23M
000 000
00 |00 | 2I4+27M |21 +23M
00 | (61 +47M) | 41 + 34M
200 |00 | 2I+30M | 2 +25M
00 | 2I+30M | 21 + 25M
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VWorst case

D1+ Do
D1 =Py + P>, — 2P,
D2:P1+P3_2POO7

P> # Ps,
Py . ramification pointd O OO

P € C(FqQ) P> = P3 = Pla c C(Fqg)

o (z,y) — (29,y7)

. #(D1,Dy) = 0(¢3)
0ooooo: 0(g?)

Worst case0 0O O0O0O: O(1/q)

0: 21 +23M

2000: 21 +25M
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O000: IEEE P136300 (Jacobian Projective)
Od: 1eM, 200: 10M

000~ #E(Fy), #Jc(Fq)

(q1/2 — 1)%9 < #Tc(Fy) < (¢1/2 + 1)%9
—

#E(Fq) ~ q

#Jo(Fq) = q2

N~#E[Fy;) =>qp~ N
N~ #Jc(Fqy) = ag = VN = qq ~ /G5

OO0o0obobodgdd
M =~ 2(log ¢)? (classical mulitiplication)

MEZFQEDDDDDDD
MHZFQHDDDDDDD
= Mp ~4Mpg
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P1363 Harley [

00 | 16Mg =64Mpy | 215 + 23My

oot
Joo2000ououoouoooog,

Ig < 14Mpg (*)
Jub, bbb gdbootdgon

00, (x)000000.
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Oo0O0Oo00 :  Harleyl

OO0 . P1363

0Oo0on . sliding window (O 4)
0000 . Kobayashi et al. @QEuro99

p:231_1
a3 —-5=0
6 —_5=0

#TJc(Fyy) ~ #E(Fy,,) ~ 2186
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o000 OCH++
OO00400dgnu g+-+4+—2.95.2

Genus two HEC EC
OO 8.32us. 11.6us.
200 8.74us. 6.58us.
0000 1.98ms. 1.76ms.

on Pentium III 866MHz

Mp ~ 3.8Mg

Iy ~6.4Mg

=
Dooooooodooooo200o0o0o0000od
0.

—

Doooooooooooooao.
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